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41. Jack’s beanstalk was 118 feet high. The giant complained,
so Jack cut off 65 feet. How tall is his beanstalk now?

The beanstalk is feet high now.
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42. At the beginning of the 63 Annual
Rancho Radster Radish-Eating Contest,
Junior Jammer had 737 radishes on his
plate. When he was done, there were
292. How many radishes did he eat?

Junior ate radishes.
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43. There were 421 mice at the concert.
When the Cool Cats began to play,
393 left. How many mice were still
at the concert?

=

There were mice still at the concert.
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44. The Custom Candy Car Company made 206 chocolate-
covered cars. 117 of these had marshmallow wheels. The
rest had cookie wheels. How many cars had cookie wheels?

cars had cookie wheels.
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